Provisional tax calculation – Change in the periods that determine the basic amount (section 3.9.1 in tutorial letter 102)

Dear Student,

Kindly note the following change in legislation relating to how the basic amount for a provisional tax payment is determined (refer to section 3.8.2 of your textbook) as per the Income Tax Act paragraph 19 of the 4th Schedule. These changes could not be included in the study guide at the time it was submitted for printing, but the rules given in the textbook is correct.

The basic amount is used when calculating both the first and the second provisional tax payment.  

The basic amount is deemed to be as follows:
1. The taxable income  assessed by the Commissioner,  for the latest preceding year of assessment less—
· taxable capital gain 

1. The latest preceding year of assessment is deemed to be:
· the assessment relating to the preceding year of assessment
· where a notice was issued more than 14 days before the date on which the current provisional payment should be submitted to the Commissioner

1. The basic amount must be increased by 8% per annum:
· if the latest preceding year of assessment was assessed more than 
18 months ago (i.e. from the date on which the previous year’s assessment was received up to the date on which the provisional payment is due), AND 
· if the period between the last year of assessment and the preceding year of the current year of assessment is more than 1 year. In other words, if you are calculating the first payment for the 2014 year of assessment, the preceeding year is 2013. The assessment must be older than 1 year from the 2013 year of assessment. 2012 would thus not qualify, but 2011 will qualify under this requirement. 

The increase in the assessed amount by 8% per annum is from the end of the year of assessment last assessed up to the end of the current year of assessment in respect of which the calculation is done. For example, if the 2011 assessment is used for the calculation of the provisional payment for the 2014 year of assessment, it must be increased with 8% for 2012, 8% for 2013 and 8% for 2014. 

Example:

	
Foodie (Pty) Ltd has a 31 March 2014 year end. The first provisional tax payment is due on 30 September 2013. The accountant, Mr Fast Fingers realised that he needs the basic amount to calculate the first payment. The 2013 taxable income has not been assessed yet. The 2012 year of assessment was assessed on 20 September 2013 and the taxable income was R400 000. The 2011 year of assessment was assessed on 30 April 2011 and the taxable income was R320 000.
Assist Mr Fast Fingers and calculate the basic amount.
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2011 year of assessment                               320 000                
Adjustment (320 000 x 8% x 3 years)            76 800
= Basic amount                                              396 800

Notes:
The 2013 year of assessment cannot be used as the taxable income has not been assessed yet. 
The 2012 year of assessment was assessed on 20 September 2013. This is within 14 days from when the first payment is due, and it cannot be used. 
The 2011 year of assessment can be used. However, an adjustment might be necessary. An adjustment is made when the assessment is (1) older than 1 year from the preceeding year of assessment AND if (2) the 18 months rule apply. (1) The preceeding year of assessment is 2013 and one year before 2013 is 2012. Therefore 2011 is MORE than one year before the 2013 year of assessment. (2) The 2011 assessment’s date of assessment was 30 April 2011. From 30 April 2011 - 30 September 2013 is 29 months. Both requirements are therefore met, and the 2011 assessment should be adjusted with 8% per annum. We would therefore adjust it with 8 % for the 2012, 2013 and 2014 years (2014 is included as we are busy calculating the potential tax for this period). 
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Please take note of an error in the textbook: 
Page 75, last line above “Notes”: “If a 2011 assessment is used for the first provisional payment, it will have to be increased by 24% (8% x 3 years)”, not 16% (8% x 2 years).


The new rules also have an effect on the following two sections of your study material:


Tutorial letter 102 Question 3.2

The answer in your study material for this question is based on the old rules.  The following is the correct answer based on the new rules:




	
2014 First provisional tax payment
	
	
	
	

	
	
	
	
	

	
	
	
	                 R 
	

	Basic amount - taxable income as per 2013 assessment
	Note 1
	       200,000 
	(1)

	Normal tax payable x 28%
	
	
	         56,000 
	(1)

	For six months (divide by 2)
	
	
	         28,000 
	(1)

	
	
	
	
	

	The first provisional payment for 2014 is payable six months before the last day of the year of assessment, therefore 30 September 2013.

	
	
	
	
	

	
	
	
	
	

	2014 Second provisional tax payment
	
	
	
	

	
	
	
	
	

	The lower of the basic amount or an estimate of taxable income can be used:
	

	
	
	
	                 R 
	

	- Basic amount - taxable income as per 2013  
  assessment
	Note 2
	       200,000 
	(1)

	- Estimate for 2014 - not available (at 31 March 2014), therefore use basic amount
	
	

	
	
	
	
	

	Normal tax payable x 28%
	
	
	         56,000 
	(1)

	Less: First provisional payment
	
	
	       (28,000)
	(1)

	Second provisional payment
	
	
	         28,000 
	

	
	
	
	
	

	The second provisional payment is due on the last day of the year of assessment, ending 31 March 2014.

	

2014 Third provisional tax payment 
	
	

	
	
	
	                 R 
	

	Actual taxable income for 2014
	
	
	       300,000 
	(1)

	
	
	
	
	

	Normal tax payable x 28%
	
	
	         84,000 
	(1)

	Less: First provisional tax payment
	
	
	       (28,000)
	(1)

	Less: Second provisional tax payment
	
	
	       (28,000)
	(1)

	Amount due to SARS
	
	
	         28,000 
	

	
	
	
	
	


The third provisional payment is due on 30 September 2014.




Notes:
1. The taxable income assessed in the 2013 assessment is used as the basic amount because it was received on 1 September 2013, more than 14 days before the provisional payment is to be made (i.e. 30 September 2013). 

2. The basic amount for the 2014 second provisional payment does not need to be adjusted by 8% as the 2013 assessment is not more than 18 months before the current year (i.e. 2014 year end) and is not in respect of a period that ends more than one year after the end of the 2013 year of assessment.
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1) DVD Question 2(a)

The DVD was recorded earlier in 2013 (before the legislation change was promulgated) and it therefore provides an incorrect answer to this provisional tax question. The solution in tutorial letter 201 has been revised to reflect the correct answer, and therefore you will notice a difference between the answer in the DVD and the answer in tutorial letter 201. 


We have included another example below to help you to understand the new rules. 



Additional example:

Using the same information as in tutorial letter 102 Question 3.2, let us assume that Lovebird (Pty) Ltd’s most recent tax assessments are as follows:

· 2012 tax assessment assessed on 21 September 2013 (instead of 
the 2013 tax assessment assessed on 1 September 2013), with a taxable income of R200 000 

· 2011 tax assessment assessed on 2 February 2012 (instead of 
the 2012 assessment assessed on 1 December 2012), with a taxable income of R160 000 



Then the provisional tax payments would be calculated as follows:


	2014 First provisional tax payment
	 
	 
	 
	 

	 
	 
	 
	 
	 

	 
	 
	 
	   R 
	 

	Basic amount - taxable income as per 2011 assessment
	Note 1
	160,000
	(1)

	Plus: (8% x 3 years)
	 
	Note 2
	38 400
	 

	 
	 
	 
	198 400
	 

	 
	 
	 
	
	 

	Normal tax payable x 28%
	 
	 
	55 552
	(1)

	For six months (divide by 2)
	 
	 
	27 776
	(1)

	 
	 
	 
	 
	 

	The first provisional payment for 2014 is payable six months before the last day of the year of assessment, therefore 30 September 2013.

	

	 
	 
	 
	 
	 

	2014 Second provisional tax payment
	 
	 
	 
	 

	 
	 
	 
	 
	 

	The lower of the basic amount or an estimate of taxable income can be used:
	 
	 
	 
	 

	 
	 
	 
	          R 
	 

	- Basic amount - taxable income as per 2012 
  assessment
	Note 3
	200,000
	(1)

	- Estimate for 2014 - not available 
  (at 31 March 2014), therefore use basic amount
	 
	
	 

	Normal tax payable x 28%
	 
	 
	56,000
	(1)

	Less: First provisional payment
	 
	 
	(27 776)
	(1)

	Second provisional payment due to SARS
	 
	 
	28 224
	 

	 
	 
	 
	 
	 

	The second provisional payment is due on the last day of the year of assessment, ending 31 March 2014

	 
	 
	 
	 
	 

	2014 Third provisional tax payment – due 30 September 2014
 
	 

	 
	 
	 
	 R 
	 

	Actual taxable income for 2014
	 
	 
	300,000
	(1)

	
	
	
	
	

	Normal tax payable x 28%
	 
	 
	84,000
	(1)

	Less: First provisional tax payment
	 
	 
	(27 776)
	(1)

	Less: Second provisional tax payment
	 
	 
	(28 224)
	(1)

	Amount due to SARS
	 
	 
	28,000
	 






Notes:

1. [bookmark: _GoBack]The taxable income assessed in the 2011 assessment is used as the basic amount because the 2012 assessment, even though it had been assessed on  21 September 2013 (i.e. before the first provisional payment was due), it was received within 14 days before the provisional payment is to be made (i.e.        30 September 2013).

2. The 2011 assessment is more than 18 months before the payment is due (i.e. from 2 February 2012 to 30 September 2013) and the period between the assessed year (2011) and the preceeding year (2013) is more than one year. Therefore, the basic amount according to that assessment must be increased by 8% for each year, therefore 24%. 
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3. The basic amount for the 2014 second provisional payment does not need to be adjusted by 8% as the 2012 assessment is not more than 18 months before the payment is due (i.e. 21 September 2013 to 31 March 2014), and the period between the assessed year (2012) and the preceeding year (2013) is not more than 1 year. Remember that both criteria must be met before the 8% increase is applied.
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